SENTENTIAL LOGIC

REPRESENTATION OF TAUTOLOGIES

We can represent tautologies using a double turnstile, ╞. 
When there is no sentence to the left of a double turnstile it means that the sentence to the right is a tautology.  
EXAMPLE 1:

╞ A V ~A

EXAMPLE 2:

╞ (p & q) ( p

We can also use a double turnstile to represent the corresponding conditional of an argument, since the corresponding conditional of a valid argument is a tautology.  
EXAMPLE 3:

╞ (P1 & P2 & … Pn) ( C
Finally, we can use the double turnstile to represent the truth table validity of an argument by placing the set of premises on the left (an argument with n premises, when n is greater than 0), and the conclusion on the right.  What allows us to use the double turnstile between the two is the fact that, in a truth table valid argument, the premises logically imply the conclusion.
(P1,  P2, … Pn) ╞ C
